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1. Find I, for the circuit shown below. (15%)
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2. The output voltage of a three-terminal voltage regulator is 3.3 V at 5 mA load, and 3.25 V

at 3 A load. Calculate the output resistance of the regulator. (15%)

3. Consider the circuit shown below. Assume the Op-Amp is ideal.
1) If Vi =V, =2V, what is V,? (10%)
2) If the power supplies of the Op-Amp are +15V, what is the allowable range of V; for
linear operation when V2=2V. (15%)
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4. Assume the Op-Amp is ideal. Calculate V, in the following circuit for Vrer =1.2V,
R1=680Q and R2=200Q. (15%)
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5. For the circuit shown below, calculate the time constant and the 3-dB bandwidth. (10%)
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6. Anamplifier is designed to provide a 12 V peak-to-peak swing output at no load

Il

condition. Assume the input signal is sinusoidal. The amplifier has output resistance R,
0.4Q.  Aload RL=4€ is connected to the output of the amplifier, how much power will
Ry dissipate? (20%)

Gain =v;/v, = A,




